A[U , kk 1 := A[U, Rk] = Module[{OE},
OE = Block[{$k = RR, $p = RR + 1},
mi,3,551@
M2,4,652@Times [ (» Warning:
wrong unless $p>$k+1! =)
ReplacePart[1-»0]e@
EXPouq, sk [ A151,2[QULY1]] /. QU -» Times],
ReplacePart[2» 0] @
EXpqus, sk [@s A353,4[QU[a3]] /. QU -» Times],
ReplacePart[1-»0]e@
EXpous, sk [€5 A5,5,6 [QU[X5]] /. QU -» Times]
1 /7. {n->m, a»a1, £€->&1}1;
E[ty (t1+t;) +01 (a1 +a2), OE[2]], OE[3]11;
tA; L5, =
A[$U, $k] /. {(viz|n]a]| &)1~ Vi,
(veit|Tlyla|X)1=Vj, (vit|T|ly]|a]|Xx),->V};



